Best model for HELP J143307.454+354102.524 at z = 1.012 x?=1.49

Flux [m])y]
=

[

Relative residual flux .

OPTx2=1.73 IRx2=1.2 threshold (OPT IR)=16.1 [um]

Stellar attenuated

102 _§ fffff Stellar unattenuated
] —— Dust emission
] —— AGN emission
10! E 1 = Model spectrum
] ® Model fluxes
] [ Observed fluxes
100 -
014
§ “!,’“*""'h-.~. N "!r‘r“‘w-f""‘ """ -
0—2 4
073 4
1
] =f= (Obs-Mod)/Obs
o J R —— - —— g ————— — —————————————————
-1 T T T T T T T T T T
10° 10! 102 103 104 10

Observed wavelength [um]



